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lote: You have four choices for each ohjective type question 85 A, B, Cand D. The choice which you
hink is correct, fill thut pubble in front of that question number, Use murker or pen {o fill the bubbles.
sutting or filling fwo or muore bubbles will result in zero mark in that guestion. Attempt as many
juestions a8 given in objective type question puper and leave others plank. No eredit will be nwarded in
.ase BUBBLES are not filled, Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.l )

() Which is the base quaniity?

{A) Arca (B) Volume {C) Length (D) Density
(2)  1fjeastcountis 10kg , then 8.00 x 10° kg has significant figures:

(A) 1 (B) 2 (€) 3 o) 4

3 1f the initial veloent of a projectile becomes doubled. The time of Night will hecome:-
Yy

(A} Double 1 3) Same {(C) 3 times (1)) 4 times
@) Unit vector of a given veclor A=ai+3jis
. : u " e
4i + 35 4i +3) 14 + 35
A) ——= Bt C) ——= Dy J|—=
(A) =33 (B) © —5 ( }‘J 5

(6)  Tidal energy is due to the gravitational pull of
{A) Sun {(11) Moon {C) Earth (D) Mars o

(N Moment of inertia for a purticle is given by
(A) mirt (1) mr’ {C) mer Q
1

(8)  S.Junil of angular momentum is: = ()
(A) Kgm's™' ) Kgm?s™ o) % ) Kgm's™

&) Fluid dynamics is the study of the behaviour of:

{A) Fluid at rest (13 Liquids at rest ‘@
(m Blood has density eqqual to that ol

(s) Timeof flight of a projectile is:
(A) Vi sim@ ) Vi sing | © yji sind D) Vi sin o
g 2g g g o ;

motion (1) Liguids and gasses in motion

(A) Ol (1) Huaney () Thick Tar (1)) Water
(11)  Acceleration in §.H.M is propo o the:

(&) Velocity lagemment (<) Time period (D) Frequency
(1) 1f speed of soul air@ha given pressure is "V" and now if pressure is doubled then

new speed b

( (RA ©) ¥ (D) 4¥
(13) Suw ving away from Farth show:

(A) Redshifl (1) Blue shift (C) Green shifi (D) Yellow shift
(14} lncase of point source. shape of the wavefront is:

(A) Plane (13) Spherical ' {(C)Circular (1) Ellipitical
(15) Magnifying powet of lelescope is:

WL+ ® Lk © L - o) L

12 fo

(16) Incase of adiabatic process, the 1% law of thermadynamic i writlen as:

(A) W =aU B W=0 ) W=0-aUu ¥ == Al

(17} ! temperaware of sink is decreased, the efficiency of Camot engine.

{A) Decreases {1} Inereases () Remain same {12] First increases then decreases
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TIME ALLOWED: 2.40 Hours EQBJECTIVE; MAXIMUM MARKS: 68
NOTE: Write same question number and its part number on answer bonk, as given in the question paper.
-~ SECTION-1
2. Attempt any eight parts. Bx1=16
{1 What is the cause of random error and how can it be reduce?

(iiy  1faprecise measurement is also an accurate measurement.  Explain yOur answer.
(iify s it possible to add S in 2i 7 Explain.
(iv)  Can the magnitude of a vector ever be negative? Explain.
{(v) [f a vector lies in x - p plune. Is it possible, one of its rectangular camponents is zern? Explain.
(vi)  Define conservative force. Give at least its two examples. (vii) Explain Geysel and Aquifer.
(viti) Why afog droplet appear 10 be suspended in air?
(ix) Derive the relation between speed and pressure of the fluid.
(x)  Whatis damping and give its one application.
(xi) How does resonance play role in heating and cooking food?
(xii)  If mass of a simple pendulusm is doubled, what is tie effect on its period? Explain.
3. Attempt any eight parts. . 8x2=16
(i) What are two differences between uniform and variable velocity?
(i} Can the velocity ol an object reverse the direction when acceleration is constant?
If so, give an example.
(i)  Explain the two differences between Elastic and in-elastic eollision.
(iv) How would you {ind the distravelled by velocity-time graph?
{1 Show that: S =r0 {where & isin radian)

(vi)  Show that velocity of hoap rolling down on an inclined plane is; v= \HEF:
(vii) What is meant by mmoment of inertia?  Explain.

(viii) Whydoesa diver change his bady positions before and after diving in the pool?

(ix)  Write down two difTerences hetween lransverse and Longitudinal wav

es.
(x)  Fxplain the terms Crest and Trough ()
(xiy ~ Why does sound travel fasier in soiids than in gases?

il How are beats useful in tuning musical instruments? Explain.
2 P

4, Afttempt any six parts. 6x2=12
(i) How is the distanee bewween interference fringes affectedg ation between

the slits of Young's experiment? Can fringes didap)
(i1) An oil film spreading over a wel footpath shows
iy  Write two difTerences between interference
(iv)  Describe two causes of power losses in optica
() Why would it be advantageous 10 use bl {
(vi)  Specific heat af a gas ot consta
(vii)  Does entropy of 1 syslem increa ecr due ta friction? Explain.
(viil)  Give an example ul a natar eoes thal involves an increase in entropy.

{ix)  Deline triple point offwate :@ ite its equation,
SECTION-II
s, i L

ain how does il happen?
n phenomena of light waves.
ing transmission of light signals.
s compowid microscope?
ter than specific heat at constant volume. Why?

fr:

=4

NOTE: - Attempt any ¢ Ixg=24
5(a) Whatis the diff el i Petrol Engine and Diese! engine?
Explain the fouli§iroke Petrol Engine. 5
(b} Derivea w the time period of a simple pendulum by using Dimensional analysis. 3
6.(7) erive an expression for lerque due to force acting on a rigid body. 3
by A r ved a homb at a height of 490m when its velocity along

the hotizontal was 300 Kmh ™" . How long was itin air?
72} Explain work done in gravitationad field. Also define conservative field.

(b) A stationary wave ix established in a string which is 120cm long and fixed at hoth ends.
The string vibrates in four segments, ala frequency of 120z Determine its wavelength
and the fundamental tfreguency.

g(a) Define simple harmonic motion. Prove thal the 'prnje‘c':ticn of a particle moving along
a circular path performs simple harmonic motion. ]

(b) What is the least specd at which an aeroplane can execute a vertical loop of 1k radius so
{hat there will be no tendency for the pilot to fall down at the highest point?

9(a) Discuss the Young's double slit experiment and determine the position where the dark
and bright fringes will be nbserved.

{b) A glass light pipe in air will totally inemaliy reflect a light ray if its angie of incidence
is at least 397, What i the minmum angle for tatal internal refiection if pipe is in water?
(Refractive ndes ol water & 1.33)

LI P

.
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